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N = 0 &8 AFH Y & A AN
20158 & 20l & LB H YRR ~ GRAS K W
SN SRHRD
HE: NYHL0 N S (LU /MY - WHAR)

ool M2y 2 2R (S &2)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
=2 AR D 787,258 752,346 34,912
XYM N stE (ot /NS - THAE X 692,839 660, 101 32,738

)
ME2g Y fiozel 351,344 339,834 11,510
NEANE 25 85,644 89,821 N4 ATT
201 et A b 71,144 70,384 760
01 AFR22t2ldl 48,300 47,300 1,000
O1.dBtx=2H| 48,300
-N&2Ztel JIEtx=ZH| 10,000,000& 10,000
-1XAEEE TEHEY 2 26,800
! 400,000& x10CH *43] 16,000
=N 400,000 9L *33] 10,800
-DSORUE AZE RU(EHY 68)
10,000,000& 10,000
-AgHEHdEE 2 (2H, 89)
100,000& 15 +15A 1,500
02 332494l 22,844 23,084 N 240
O3. A& #HI = X bl 20,520
-8 ADID] KA 2 1,000,000& x12& 12,000
X &N SLAHFOIOXAIAE SN2
330,000& x12& 3,960
-ETely X2 380,000& x12& 4,560
O1.22224HA 2,324
-HEZPC S8 & 48,4003 4 x12& 2,324
202 04| 5,400 3,600 1,800
01 2L Y| 5,400 3,600 1,800
OMEBAES & XM s 4 Yl
60,000 109 *3 33| 5,400
301 EtE A= 9,100 12,587 N 3,487
0B A ERIBAZ 9,100 12,587 N 3,487
OMIESRA 9,100
|23 149,000& x2H x12& 3,576
-S4l H| 7,000& x2H x222 « 12 3,696
-1 EH| 2,400 x2H %222 x 12& 1,268
=1l 140,000& x2H *23] 560
KA 2 ot2tel 265,700 250,013 15,687
101 2124 1| 11,947 11,155 792
04 JIZtH2ZXNEE S 11,947 11,155 792
Ol Ml 23 L SEHFAN 2SN A
Argled ol A Y| 44 6403 «4H x60 10,714
o4t E JI22E2 10,714,000& *11.5% 1,233

_23_




SN HRNRD

M JPMH=2 N SZ(USISHIY/ANLHY - HEXE)
el ME2E & Rozel (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 L2l 242,493 227,598 14,895
01 At 22l 63,648 63,648 0
O1.det=2Hl 55,080
-0CRE &F DX M HI 55,080
ANEADE 9,000
*FHSMN, SEHGA S 60&+80,0002 4,800
« SN, FUM, NLLSH S
60& +70,000A 4,200
Il2 DM M 31,980
* SEHGEM 603 +23,0000H 1,380
* NS XA (1012 ,2012)
603 *90, 00001 x23] 10,800
* =OLAl 60& *110,0000H 6,600
*HAM (=&, 2=2) 60 +160,0000H 9,600
* HALAI(EXT) 60& *60,0000H 3,600
FII2 DM &8 & S8 14,100
* WA (=&, AEE EX)
30& 100,000 x23] 6,000
* XS IHA 30& +80,00024 x23| 4,800
* Z=0LAl 30& *110,00021 13l 3,300
O5.2 &l 8,568
“S N ERFA IR 24
7,0003«7E <10 128 5,880
“ALN HRFE IR 24
7,000 «4H 82«12 2,688
02 3322l 178,845 163,950 14,895
O1.2223LHA 178,845
SINANES RERS 178,845
©SII(2M30L0I A AESKMH S)
1,930& x16,50024 31,845
B (FEI H SAIE2 AXA, HABEAUE
g) 300& *490,000A 147,000
202 Odl 11,160 11,160 0
01 =2 LHA YI 11,160 11,160 0
OZNMEE BMIZEA OHI
60,0003 x7H+3 +63] 7,560
OANMEE BHMIZEA O8I
60,0003 *4H +3 «53] 3,600
402 2I2H X201 M 100 100 0
02 BIZ2HCH S AL &1 HI 100 100 0
OF0AN SE€ExuES N3
2,000,000& *5/100 100
N 2 =2t 184,586 170,220 14,366
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SN HRNRD

M JPMH=2 N SZ(USISHIY/ANLHY - HEXE)

Sl MY U FLe (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
N 2 HMEM &= 184,586 170,220 14,366

201 LBH2d| 128,066 128,700 A 634
01 At 2t 2l 58,998 58,998 0
O1.Ler==&H| 50,430
-Mle R H=2tel 2Bt=2Hl 4,500,000 4,500
-Mlel+=2 0OCRLXAM & =T 2
2,400,000& 2,400
“HAMEEE D MYIDXNA M 19,600
T EEY 70,0003 *60& A 23] 8,400
e XA 70,000 *408 A +43] 11,200
-SH2&E Mg =2 150,000& 402/ 6,000
HEMNUAE U WA S SIALE
150,000& *153] 2,250
-H2H % R (FH . HMAENSLE 2
4003 «600AH x 123 2,880
-AEIHE MHEMAE 2R (FH . HMANSE
=2 1,000& 3004 122 3,600
280 EEME =5 2,000&*2,500% 5,000
TEHABIE QEHUER +48
350,000& 128 4,200
O5.2 &l 8,568
AU YRR OA2RX ZA
7,0003 3«8 128 2,016
-HEHe HRFA LI REXN =4
7,0003 ~6H«8 x128 4,032
“HEXNE §sHs 0FU2RL =4
7,000 3«18 x4 +53] 2,520
02 =24l 69,068 69,702 A 634
O1.2323LHA 63,860
-HEDRA ¥ FRSAUN 28 2ERS 63,860
T Bk 300& *200,000A 60,000
© S0l 1,930& *2,000AH 3,860
O3. A& & Hl s Xt 5,208
-5 E=X3D/(PDA) R X E =4l
230,000& 128 2,760
“HEXE SGEAAE | EH
204,000& 128 2,448
202 O4dl 11,520 11,520 0
01 = LHA Yl 11,520 11,520 0
sugg 422 ofyl
60,0003 *3H +x3 +53] 2,700
ONMYE&EeEY 28 0l
60,0003 x4 H +3 +7 3] 5,040
Ozt HMEMAE== dl 60,000 «3H*3L x73] 3,780
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SN HRNRD

HE: YL SN AE(AUDDHZ/NYST - HIN)
Sl MY 2 FAEE CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et a = 2,000 2,000 0
MIIEEE=S 2,000 2,000 0
OSUMAAD QI2rol TAZ
1,000,000& 40 *5/100 2,000
303 Z& 3 28,000 28,000 0
01 243 28,000 28,000 0
OMEAN dxz2az 28,000
-3 20,000
3@ola B 200,000,000 *5/100 10,000
280l Ft 200,000,000& *3/100 6,000
18014 3 400,000,000 *1/100 4,000
=59 5,000
3@ola 3 50,000,000& *5/100 2,500
2@ 0l& Bt 50,000,000 *3/100 1,500
18014 3 100,000,000& x1/100 1,000
- dESEINE HMEMNE S
30,000, 000& «10/100 3,000
405 RHoHF S HI 15,000 0 15,000
01 et EZFH S 15,000 0 15,000
OXNSENE BHSE QA HHEFY
15,000,000& = 1CH 15,000
geld¥e nE2d 156,909 150,047 6,862
FEOHA LHE 156,909 150,047 6,862
101 @124 4] 33,847 31,603 2,244
04 JIZHHZ2Z2XNHEE S 33,847 31,603 2,244
OMNEZ=EIIATAL HRE X 21|
44,6403 * 17«80 *50% 30,356
C4liEd JIA2RES 30,356,000& *11.5% 3,491
201 YEr2 b 117,662 113,044 4,618
01 At 22l 117,662 113,044 4,618
O1.Ler==&H| 112,440
“HEFEOLE T AR - AE LBH2 I HI
2,700,000 2,700
“HEFEDIANME & AESsE 89,394
GAEFEONR HEFS2
50,8203 x12%*27,00024 *50% 82,329
d3ePES+=2 7,085
* QAN = 50,8203 *50%+*30%* 1004 763
* 0] 981 & 50,820& *50%*200AH 5,082
* ANAEE 50,8203 «50%*4824 1,220
“HEFEOIAEH HE 18,000
T BIEMNE2 6,000&+1,200= & +2& 14,400
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SN HRNRD

M JPMH=2 N SZ(USISHIY/ANLHY - HEXE)
ool BelEol BELY (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
T A AR 6,000& 300 & +2& 3,600
SHE=EIAE 222 ¥ RS MHEH 2,346
e 50,000 * 17 2 *23] 1,700
" oQtm 19,0002 * 177} 4 *23] 646
O5.2 5,222
SFEIIANY BERY OIA2LR SA
7,000 «78 192 23] 1,862
FHSHZIAN Y BHNKE ALEA 0f22
S =24 7,000 «5H 8L « 12 3,360
202 (44l 5,400 5,400 0
01 = LH o4 1l 5,400 5,400 0
FEEI XA @ WAXE EAGH
60,000 *5H 32 63| 5,400
HE2LZHI (LN (IIEH/IIE) 94,419 92,245 2,174
AH2IHI (7 M=) 24,209 22,368 1,841
FAMUE 2| 24,209 22,368 1,841
101 1244 dl 24,209 22,368 1,841
03 RIAHAZ 2T E =+ 24,209 22,368 1,841
OMYEAMN A+E2xX & HMIE Fel 24,209
-JlEs 40,4203 «1H 261 10,550
-4 03 10,550, 0002 1 *1/12%400% 3,517
-Z 2 F 0l 10,550,000 * 158 % 1/12%120% 1,085
- EsE 130,000 x1H «12& 1,560
-25Jtel= 40,4203 1H 3L 122 »50% 728
—AX == 49,5683 1 18 893
-=5=g 40,4203 1 52 2,102
- A G A 130,000 x1&H «12& 1,560
-HZ2sd 10,550, 000& * 1% *1/12%30%*23] 528
“A2HRI 2R
6,196 *1H *10Al 2k x150%* 12 1,116
-nsS2E X 50,0002 «1H x 128 600
JI2FH (ST MPDH) 70,210 69,877 333
FASEH 6,010 5,677 333
201 Let24d] 6,010 5,677 333
01 At 22l 6,010 5,677 333
ORN2Y LEt==EH| 4,120,000& 4,120
ORAM2Y =St 1,890,000 1,890
AR FE NI 60,000 60,000 0
202 044l 60,000 60,000 0
01 = LH o4 1l 60,000 60,000 0
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SN ERMRD
o WHSABH (LRHRI)OIEHIIE)
Sl JIEBHI(ZT HMRD)

SA - ZE-B(EA) - NRAY - B S il &t o il
OFYSFEA HHl 20,0003 25«10 122 60,000
doxxy 4,200 4,200
203 YR =2t 4,200 4,200
04 NI 4,200 4,200
ORH2YARENY (3 :27)

350,000 122 4,200
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AN RS0
HH: 4SSN UL NAZHMSAS (SRS LA /AL - O E)
H?: -2 2F  dHMHASH (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
S HIODIEA(HLHE) 220 115
=l 680
= 50,0003 «4&H 204 & 400
2 Xt 5,000 «4H «20 & 40
=y 30,000 *4H *204 &~ 240
-oH==2& HIOANE 22T 22X
5,000% +3% 612 524 4 1,830
05.3 | 24,710
“HRNY YREE A2 24
7,0003 «4H+10L 128 3,360
ol ==& BitI|& 22X 24 21,350
HHCHAI & 7,000 3«3 #6120 & 2,562
CogptAaE 7,000 3 x4H 23] 61U x20H & 6,832
T oA E 7,000 3 *4H 23] 612 «20H & 6,832
119 2 7,000 «3H #23] x612 201 A 5,124
02 2324l 20,280 22,228 21,948
O1.322ILHA 11,280
“ofl ==& HOAIL dot=ER3
120,000 70 2+ 12& 10,080
-2 Mlleas & M3
50,0003 20 &+ 12& 1,200
O3. A& ZHl s Xt 9,000
-l ==2E HYAME RAE=s
4,000,000 *20H & 8,000
-l =2 UHIPEIEHH FAES
500,000& *2H £ 1,000
202 o4dl 4,320 4,320 0
01 = LH 4 Hi 4,320 4,320 0
OZHAaY =& ot
60,0003 *4H +x3 63 4,320
206 T 2 bl 31,250 2,000 29,250
01 =8l 31,250 2,000 29,250
Otfl+==%& AdF2x UMY 2,000,000& 2,000
Of==2%& 2E7Y 29,250
—OHMEHNE 400,000 *39AI E 15,600
“-dNMREEANE 350,000 *39AI E 13,650
301 gt d= 1,000 1,000 0
09 SAAHIEA S 1,000 1,000 0
OWHEHM H27gH 24 500,000& *20H £ 1,000
401 A& HI L 2T 15,000 15,000 0
01 A& HI 15,000 15,000 0
Off+2% +2ZHL 81 2 B4
10,000, 000& 14! 10,000
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SH GRAAD
H: 22 L NGZHMBLsH (=2 ol 2a=40/o La=4t E)
Sl HASTRY U ABYAHYSH CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFBEN+SZ Ad BHAY
5,000,000 » 14! 5,000
405 TtobFH SHI 1,000 3,000 A 2,000
01 AL EZFH S 1,000 3,000 A 2,000
OREXM+=2F BT 2 1,000, 000& 1,000
M= AHIXIRIA 2AHY(EX) 31,423 19,045 12,378
< 9,427
Al 21,996
101 @124l 31,423 19,045 12,378
< 9,427
Al 21,996
04 D12t 22 HEE = 31,423 19,045 12,378
O+ & AHIXQA 0I2AH|
77,000 *3H 612 200 A 28,182
= 8,455
Al 19,727
C4liE" JI2RES 28,182,000& *11.5% 3,241
< 972
Al 2,269
H=sa gdREA HHXA(EX) 17,610 0 17,610
< 5,410
Al 12,200
201 £B-2dH| 10,492 0 10,492
< 3,148
Al 7,344
01 At 22l 6,100 0 6,100
O6.8 1tz 6,100
HaSE YR EH YR
50,0003 * 13«61«20 & 6,100
< 1,830
Al 4,270
02 2324l 4,392 0 4,392
O2.¢ 24| 4,392
-H4SF AYREM RF
1,800 *202| B +61 200 & 4,392
< 1,318
Al 3,074
206 T2 HI 7.118 0 7,118
= 2,262
Al 4,856
01 =8l 7,118 0 7,118
OQER2EHH P2 7,118,000 7,118
< 2,262
Al 4,856
WO+ N ISLSSHALBXR (2X) 5,400 5,500 A 100
< 1,700




SN gRUYD
HH: faSERY U NN G2 /B 2 At - Of
Sl HASZRY LAWY CERED
= _ = d =
SA BB (S) - MRAY - BAS 0l &k o4 e Hl DS 2
A 3,700
206 TH 2 bl 5,400 5,500 A100
= 1,700
Al 3,700
01 M2l 5,400 5,500 A100
Odmtel+H 18 % 7
700,000 %274 2 5,400
= 1,700
Al 3,700
SUBMH L (sTHY =) 3,772,145 3,775,475 3,330
2 119,341
X 1,070,000
o] 17,590
= 161,377
Al 2,403,837
L ENBHMKH 435,093 393,867 41,226
2 118,241
o] 17,590
=) 15,677
Al 283,585
SIASKE 185,988 187,552 A 1,564
201 YEr2 | 7,368 7,852 A 484
01 Ak 22l 5,496 5,356 140
O1.get4gH| 3,480
~sItASTE oh 4 2 bl
1,800,0002 1,800
SSXNFHSHASY 20l
4% +3,500% *23] 1,680
O5. 22| 2,016
53 gex =N
2432 +82 #1228 2,016
02 =224l 1,872 2,496 A 624
01.3323% 1,872
57101 8 A B H2EX 2He
3 1,872
Yt H 3002 #15021 +33] 135
solew 1,930% %3001 +33| 1,737
202 01t 1,620 2,700 A1,080
01 2Lhol8l 1,620 2,700 A1,080
OSXOISMEEA ALEE Oft]
60,0002 *3% *32 +33] 1,620
206 H 2 bl 1,000 1,000 0
01 T2 bl 1,000 1,000 0
OYsNY L&) FH Y (FLQ 25)
1,000,0002 1,000
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2N
X ZH -
L= B

el

Off &t 24

176,000

,000

H dals SS2A A

40,000& *1,600ha
70,000& *1,600ha

176,000

176,000
64,000
112,000

,000

= M

53,000

7,730
45,270

,000

35,000

402 RIZ2tXt=01 &

H

Al

53,000

7,730
45,270

,000

35,000

O=R3% sSRYX

10,000, 000& *3JH 2~ +60/ 100

2l

Al
el M XI&

10,000, 000 *3JH 2~ +50/ 100

= M

2,000,000& *2074 A x50/ 100

53,000

18,000

730
17,270
35,000

15,000
3,000
12,000
20,000
4,000
16,000

,000

35,000

EANBHMIBS AL (EX)

= Hn H

168,915
118,241
5,067
45,607

,225

19,690

= Hn W

168,915
118,241
5,067
45,607

,225

19,690

168,915,000 & 14!

= MW

168,915

168,915
118,241
5,067
45,607

,225

19,690

f

sAolg22X2 (BEx)

17,590
17,590

.590

101 1Al

Jl

15,890
15,890

,890

04 DIt 22 XS+

OsAolsae oA

] 15,890,000&
2l

15,890

156,890
15,890

,890

202 o4 Hl

1,700

,700
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SH: gRMAD
HE: sUABA S (SPHLLLN/5Y - 52)
Sl RASAS YU R CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
J| 1,700
01 = LH 4 1l 1,700 1,700 0
OsXolE2ed® =& A 1,700,000& 1,700
Jl 1,700
SN AYI XA (EX) 9,600 16,000 A 6,400
= 2,880
Al 6,720
402 RI2EX20| ™ 9,600 16,000 A 6,400
= 2,880
Al 6,720
01 B2t AL E X 9,600 16,000 A 6,400
Od=EFH(EH=) XN 40,0002 x2408 9,600
< 2,880
Al 6,720
SHMADIBEE S 3,337,052 3,381,608 AN 44 556
2 1,100
Xl 1,070,000
< 145,700
Al 2,120,252
SHMAD|BEE S 1,274,980 1,485,544 A 210,564
201 Let24E] 19,306 20,306 A1,000
01 At 22l 19,306 20,306 A1,000
O1f.2er= g 9,290
~SIIP RS ALY BrASH 1,800,0008! 1,800
S2RMA SCHISE U ASTL4E
300,000& 202 X 6,000
-SII0IA =2 70,000& 152 1,050
-—SEE getad =ZAA 110,000 *40H & 440
O5.2 2l 2,016
~SQIB YRR OFA22T 24
7,000 «3H 8«12 2,016
O6. 81z 8,000
-sYIIBAIE HUI(EA EUil+=2)&8 Xt
500,000& *40 A x4 8,000
202 44l 2,700 2,700 0
01 = LH 4 b 2,700 2,700 0
Os=sgMaDIgt ==& Kl
60,0003 *3&H 32«53 2,700
401 Al HI L 2 THYI 1,182,974 1,412,538 229,564
01 A& bl 1,180,000 1,410,000 230,000
O=xclAld HE= 50,000,000& =14 50,000
OstolitHHl gratd S 50,000,000 * 14! 50,000
OsHHADIIEERH ALY A A& A HI
45,000,000 » 14! 45,000
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SH GRAAD
HH: AW A SYHSLN/5Y - 58)
el S M ATy
- _ _ RE]
SN ED B (3H) - MEAY - BAS ol &k o8 %@ﬁ
Os¢olg 22 Nole FEEA
2,000,000& 102 20,000
OFREBL HYHIZ| s ZLEZA
50,000,000 = 14! 50,000
OFREBL MNE2P| =38 ZLEZDA
40,000,000 = 14! 40,000
OREL SSC(ELHA) BHHE2 & X2 At
40,000,000 = 1A! 40,000
OREL o812 s2 HEZHIZA
30,000,000 = 1A! 30,000
O9d dre s ZAEZA
20,000,000 = 1A! 20,000
O XtY™e =2 &XZ2A
50,000,000 = 14! 50,000
O HAE Hil=2 &XZ2A
40,000,000 = 14! 40,000
O =9 =2 &XZ2A
40,000,000 = 14! 40,000
Odd HAXNR? StHix==2 EX2A
40,000,000 = 14! 40,000
O 2422 s & L SHILEZ X Z2A
40,000,000 = 14! 40,000
O 2=12l SAME S ZHI Z2A
40,000,000 14! 40,000
O2AE HHAH1el 242 &8H| & s L2 A
0,000,000& 14l 20,000
Olls =32 (E23) oer2d AXZ2A
60,000,000 = 14! 60,000
Ol 222 S22 EX3A
30,000,000 14! 30,000
Ot =12 S22 EXSBA
40,000,000 = 14! 40,000
Osadll Otatel s ZEZ A
40,000,000 = 14! 40,000
Ol &2 s Z&EZ2A
40,000,000 14! 40,000
OSof aAA22(HESB) s2LEHZA
40,000,000 14! 40,000
OFI| 2Z2l SYBLVUHE L SREFTA
40,000,000 = 14! 40,000
OHFD| AtM2 S22 EXIZ2At
40,000,000 = 14! 40,000
OZ&I| =42l x=elAE(2) HHZ2A
30,000,000 14! 30,000
O&J el s ZEZ2A
40,000,000 = 14! 40,000
O30|2 Ro2e =2 ZHZ2A
40,000,000 = 14! 40,000
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o arel It
SUFM Yo (SPHLLM/5Y - 5&)
SHMAD BN Chel: ® &)
(o
SN ED B (3H) - MEAY - BAS %@i HD=2
Osdll 481el s HEZ2AH
25,000,000 = 1A! 25,000
O50|2 ZAH2 =2 ZEHZ2A
30,000,000 = 1A! 30,000
OMEX ot 2| AN ST X
1,000,000 x300H & 30,000
ooy 2=12l S2HETBA
40,000,000 = 1A! 40,000
03 AlE 20| 2,974 2,538 436
O=SMAD|BF LAY A& R0
1,180,000, 0002 *0.36/100*70%<& 2> 2,974
402 SI2FXHE0| & 50,000 50,000 0
01 QIZEXIE2AIE 2 X 50,000 50,000 0
OZclH 2 AE SX22 50,000,000 50,000
403 XX SRS R 20| & 20,000 0 20,000
02 2J| 2 S 0l CH St CH & AF H 20,000 0 20,000
OFI| HHe HAEXN EZ2AHFS=AE)
20,000,000 14! 20,000
HHUALI| MY (BX) 65,000 60,400 4,600
& 6,500
Al 58,500
401 Al HI L £ 0HHI 65,000 60,400 4,600
& 6,500
Al 58,500
01 Al& H| 65,000 60,400 4,600
O2d & 2kJ| AdlH| 65,000,000 65,000
& 6,500
Al 58,500
MoK =S4 A& A (EX) 200,720 240,864 N40,144
= 60,000
Al 140,720
401 Al HI L 204 HI 200,720 240,864 AN40,144
o= 60,000
Al 140,720
1 Al& | 200,000 240,000 A 40,000
O =12l Moo =22l A8 FH 2 Al
50,000,000& = 14! 50,000
= 15,000
Al 35,000
OHFI| =222 Mooy =Ll AIZdEHZ2AH
150,000, 000& * 14! 150,000
== 45,000
Al 105,000
03 Al&E 201 Y| 720 864 AN 144
OMolioe =Ll AIEEEIAY AIE20Y]
200,000,000 *0.72/100%50%< & 2> 720
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AN RS0
HE: sUABA S (SPHLLLN/5Y - 52)
SHol: ST B EY 2 ERA)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
CEAEMSXNEH(BEX) 250,000 80,000 170,000
= 75,000
Al 175,000
403 XSS A=0l& 250,000 80,000 170,000
< 75,000
Al 175,000
02 3|25 0l CHShCH 2 At & HI 250,000 80,000 170,000
OFI =&KX =AM =X HHIZA
50,000,000& =14 50,000
< 15,000
Al 35,000
OFIl 23X A M=X HHIZA
50,000,000 =14 50,000
< 15,000
Al 35,000
O HOIZ2XN =AM =X EHISA
50,000,000 =14 50,000
< 15,000
Al 35,000
Osol s=X ==ASM=X ZHIZA
50,000,000 » 14! 50,000
< 15,000
Al 35,000
OFJ HEXN ==A8M=X ZHIZA
50,000,000& » 14! 50,000
< 15,000
Al 35,000
HN=XHEEE(EX) 14,000 11,000 3,000
< 4,200
Al 9,800
401 Al& I 28I 14,000 11,000 3,000
< 4,200
Al 9,800
01 A& HI 14,000 11,000 3,000
Ozt M=Xl H<AEH 14,000,000& * 14 14,000
< 4,200
Al 9,800
SRMMAEHEMNSEEINXR(EX) 1,100 1,100 0
= 1,100
201 Lete | 800 800 0
= 800
01 At 2teltl 800 800 0
O1.28=8H| 800
-BHEE R 200,000& *43| 800
= 800
202 odl 300 300 0
= 300
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A ER4SE
HH: AW A SYHSLN/5Y - 58)
Sl S MADIBEY (S5 &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 = LH o4 1l 300 300 0
O=F MAtA B = AF= & B 300,000 300
= 300
SEMSBATH(SAIZR)(ZANESEST XL L A 1,531,252 1,502,700 28,552
o) (2X)
X 1,070,000
Al 461,252
401 Al B2 28I 1,531,252 1,502,700 28,552
Xl 1,070,000
Al 461,252
01 A& HI 1,528,500 1,500,000 28,500
0O2015E HI1H sZEMeZFHI S AM 500,000
I L@ 160,000, 000& * 14 160,000
Xl 112,000
Al 48,000
-] X+ 170,000,000 14 170,000
X 119,000
Al 51,000
&I A~ EAX TR 170,000, 000& * 14! 170,000
Xl 119,000
Al 51,000
O2015F &M sEMeZFHI S M 1,028,500
-tH&Ess g3 228,500,000& =14 228,500
Xl 160,000
Al 68,500
-iis gd~-3-EsXF
250,000,000& 14 250,000
Xl 175,000
Al 75,000
-iis Fs~2HXF 200,000,000& » 14 200,000
Xl 140,000
Al 60,000
-tH&E A H~MLWX 350,000,000& 14 350,000
Xl 245,000
Al 105,000
03 AIE =2 0HHI 2,752 2,700 52
OsE=4BHATUAY ALS0Y
1,528,500, 000& *0.36/100%50%<& 2> 2,752
UH B U3 (SHLAH/UY - AE) 3,479,652 3,952,529 N4T2,877
= 361,165
Xl 42,486
S 196,085
Al 2,879,916
A XA 2t 728,985 1,352,504 A 623,519
= 198,357
Xl 42,486
< 62,134
Al 426,008
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2N
X ZH -
L= B

el

[z 02 oC
oV R U
oY
[o 02 1Q
]
0y
L]
O
i
%
02
1>
2z
~
0°
Q
[
i

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

ZRIIAME(BX) 373,321 609,884 N 236,563
188,325

55,776
129,220

= Hn W

101 1Al 97,829 131,495 A 33,666

48,914
14,673
34,242

= N H

04 DIt 22 XS+ 97,829 131,495 A 33,666
O&EHHOI 200 A&
70,079,000 70,079
40,038
12,011
18,030
Ot 3| A XZALE el 16,852,000& 16,852
8,426
2,527
5,899
o4 JI2RE3 86,931,000& *11.5% 9,998
O&EBolQIA =&8H I =H| 900
-Hgs 100,000& 6 600
300

90
210
50,000 6 300
150

45
105

= Hn = N H = MW

I

A
%
jll

zZ W

201 LEt2A | 2,730 3,400 AB70
1,365
410
955

=z N H

01 AtR 22l | 2,310 2,520 A 210
5.8 &Hl 7,000 3 10 113 2,310
1,155

347
808

02 832gl 420 880 2460
3. A& &Hl= XYl 420

- ZHIOIQ0 A FHl | Xl2eldl 420,000 420
210

63
147

= MW

= Hn

202 04l 2,160 2,160 0
1,080
324
756

= N H

01 SLHOYI 2,160 2,160 0
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AN RS0
HE: QAW S SYHS /LY - 4E)
el MR L (29l 8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OUZBIOIQMA ~H2S X0l
60,0003 x2H 3 63 2,160
= 1,080
= 324
Al 756
206 M= Hl 1,000 1,022 AN22
= 500
= 150
Al 350
01 =8l 1,000 1,022 AN22
ORI HHED U 24E NP
500,000& 500
- 250
< 75
Al 175
ORI RJAZA FFHI 500,000 500
= 250
< 75
Al 175
301 LAz 3,510 4,640 21,130
= 2,955
< 166
Al 389
09 BAAHIE &S 3,310 4,440 A 1,130
OKZHIOIQUA +TBE DS
2,400,000 2,400
= 2,400
OKZHIOIQUA +FEBE BDKOIH|
130,000& »7H 910
= 455
< 136
Al 319
1MIIEBESS 200 200 0
OZ&X Xzl 200,000 200
= 100
< 30
Al 70
401 AIEHI L 2 CHYI 266,092 467,167 A 201,075
= 133,511
< 40,053
Al 92,528
01 A& HI 258,504 447,943 A 189,439
O% 91371 (20ha) 28,504,00021 *1 Al 28,504
= 15,182
S 4,555
Al 8,767
OO0 8l LE2 2t 3 I Ak (100ha)
120,400,000& * 14 120,400
= 60,200
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SH GRAAD
HE: AW U5 (sHoHLa/PH - ME)
ol AR CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 18,060
Al 42,140
OZXIJRII AL (100ha) 109,600, 000 * 14] 109,600
= 54,800
[ 16,440
Al 38,360
02 Zteltl 6,657 16,000 A9,343
O#IIRI| L ZXNIRIIAY 22l
6,657,000& x 14! 6,657
= 3,329
< 998
Al 2,330
03 Al 2 THHI 931 3,224 A2,293
O£INRIIAY L ZRNNFI A AL
=l 258,504,000& *0.72/100%50%<& 2> 931
AT SUERR(2X) 3,120 3,120 0
= 936
Al 2,184
101 @124 dl 3,120 3,120 0
< 936
Al 2,184
04 JIZHHZ2XNESE S+ 3,120 3,120 0
O 2e2LIHR& oAt 2,798,000 2,798
< 936
Al 1,862
OC4liE" JI2RES 2,798,000& *11.5% 322
T A JA(EX) 15,695 7,800 7,895
Xl 10,987
= 941
Al 3,767
101 @124l 15,695 7,800 7,895
Xl 10,987
< 941
Al 3,767
04 JIZHHZ2Z2XNSE+ 15,695 7,800 7,895
O e Al 14,076,000& 14,076
Xl 10,987
< 941
Al 2,148
O4Ed JI2=RE= 14,076,000 *11.5% 1,619
UEER(EX) 44,918 27,000 17,918
Xl 31,499
< 2,699
Al 10,720
401 AIEHI L 20 44,918 27,000 17,918
Xl 31,499
< 2,699




SH: gRMAD
HE: QAW S SYHS /LY - 4E)
el s xR EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 10,720
01 A& HI 44,676 27,000 17,676
O & 22 (10km) 44,676,000& x 14! 44,676
X 31,499
< 2,699
Al 10,478
03 AlE 2 THHI 242 0 242
OeEEx AIZR0HI
44,676,000% *1.08/100%50%<& 2+> 242
TEMH(EX) 20,710 133,588 A 112,878
= 10,032
< 1,782
Al 8,896
402 2I2H X201 M 20,710 125,172 A 104,462
= 10,032
< 1,782
Al 8,896
02 BI2HCH & A& HI 20,710 125,172 A 104,462
OS&+=x8(1ha) 2,764,000 x 14! 2,764
= 1,592
< 351
Al 821
OREEXNZE AL (2ha) 11,112,000& 14 11,112
2 8.440
S 801
Al 1,871
O THOH 2RI =& AF (2ha) 6,834,000 *14] 6,834
< 630
Al 6,204
ME TSR 22 271,221 571,112 A 299,891
101 124 dl 47,337 46,133 1,204
04 JIZHHZ2XREE S 47,337 46,133 1,204
o4& sXNAE 22 & UFHel |
54,500 8«60 26,160
OsoiMeEMsIR (=5aH)2el Ay
44,6403 «2H 70 6,250
OS0l2 H=32X4X E5 L 22 2l
44 6403 +1H 752 3,348
OLELE HEHSSESR 2l QA
44,6403 +3H x50 6,696
C4UEY DJaRd3 42,454 ,000& *11.5% 4,883
201 Let24d] 15,976 18,456 A 2,480
01 At 2teltl 5,556 8,316 22,760
O1.det=2H| 1,800
- =X&d3 JlE=+=EHl 1,800, 000& 1,800
O5.=2 &l 756
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2N
X ZH -
L= B

el

=t
AT USH(SYHLLL/YY - HE)
xR e

A== S9(3H) - NEAY - BaS ﬁlf& HD=2
- AN PREA o2k 24
7,000 x3H 3L x 128 756
O6. &4 xt = 3,000
- AHHl HHIYXt 500,000& *2CH *33] 3,000
02 3524l 10,420 10, 140 280
O1.22222HA 2,880
-SHAE N ESSE 35S EA Y Bots A
e 200,000& x12& 2,400
“HEC 2T BAUS ®IQ3
40,000 x12& 480
O3. A& & Hl 2 X bl 7,540
~CAN=sSAIE S22 EE 2 &
S22 1,800 x7004 *4CH 5,040
-ZAIsSHAIE S22 &d =4
100, 000& x5& *53] 2,500
202 04d| 1,620 2,700 A 1,080
01 2L Y] 1,620 2,700 A 1,080
O At AL =X 4 H]
60,0003 *3H 3 *33] 1,620
206 M = dl 25,640 32,340 A6,700
01 & bl 25,640 32,340 A6,700
Of2Hs 2l 7 11,600
-Xd= 40,000& 1502 6,000
-XHE 20,000 x50 m 1,000
-X3 5 1,000& *x2,0002 2,000
“EHACR(H=EI ES) 10,000 x 100 = 1,000
s =3 8,000& 200 %L 1,600
OJ25s & =8 Hlls2dHE <12 2,600
-& S 5,000& *1004 x23] 1,000
-l 8,000& *100& 23| 1,600
O=sXA4d 22 HEE R4
1,800& *x40f »1H 20 1,440
O=2cH AlE 22 (3=25,228)72¢
2,000 *5,000= 10,000
401 Al B 2 0HHI 180,648 471,483 N 290,835
01 Al& H| 180,000 470,000 A 290,000
OYd=F=H EHIIALY 20,000,000 = 14! 20,000
Ozzd s a2 (M=x, 288 &M S
) 70,000,000 = 14! 70,000
OsdaEM=ESd ExSAt
10,000,000 » 14!l 10,000
O8%H =sXAE SsS28Hals LHAY
10,000, 000& » 1Al 10,000
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AN RS0
U AW S (SHALSA/ALY - HE)
Chelr A TR 2t (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OSY =NAE 2342 HIAL
10,000, 000& 14 10,000
O8% J}H2aE +2 BAMY
10,000, 000& 14! 10,000
O2AZ =XOIRAE Ful(014 9)
30,000,000 » 14! 30,000
O30l I3 At Y 20,000,000& =14 20,000
03 Al 2 0HHI 648 1,483 A 835
OsXZ=ZAY AERUH
180,000, 000& x0.72/100%50%<& 2> 648
MNEESSY 2,463,807 2,282,268 181,539
= 145,666
= 122,448
Al 2,195,693
A2 2 X CH 24 422,880 361,513 61,367
101 @14l 232,474 232,295 179
04 JI2ZtHZ22 a2+ 232,474 232,295 179
O8sZAHRXNA Clst=E MAAY 1]
54,500 *20H 40 43,600
C4liE" JI2RES 43,600,000 *11.5% 5,014
OMNETSTHZANR NEHE) PL4EH
968,502, 000& *1% 9,686
O&EZAIY IS8l 18,974
—MEX =S 110,000& 106 H 11,660
-87% 5,000& 106X 530
)] 25,0002 106 2,650
-orM 3t 35,0002 106X 3,710
-S| & 2E 4,000& %1064 424
QU2 A (o gdXiel &#E) 155,200
-QI24H| 200,000 x80H x9 & 144,000
-2 2 203 140,000& »80H 11,200
201 £B-2dH| 54,394 58,602 A 4,208
01 At 22l 30,300 31,560 A 1,260
O1.LEr==ZH| 6,400
-MEES(&E) JIErE 2,700,000 2,700
“AEXRA 2 MXES Y2tE FH
110,000& 204 2,200
-2 (MBI =2 50,000& »30CH 1,500
O4.1l =t 1,000
-2 E, SHS) 5,000& 200X 1,000
O5.2 &l 22,900
QNEES, MESUHYTUHMER HAE2IRN =
Al 7,000% *6H 1502 6,300
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AN RS0
HE: QAW S SYHS /LY - 4E)
el MEESsY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
B2 NE0Y HNES 224 34
7,000 120 x15 12,600
—oHERSHAL 2H4] 2,000 «500 43 4,000
02 =24l 24,094 27,042 A 2,948
O1.332z=LHA 3,840
—AE=R0IZ A0 A AEE
35,0003 *73| & +12& 2,940
SHYAYYDRER BUE AR
50,000& 128 600
“MEZAYH ¥ MHEL HIRS
50,000& x6 & 300
O2.¢9 =l 11,664
—MESZAE ZAEL ASH
1,200 34 *180 180 £ 11,664
O3. A& ZHl s Xt 8,590
~MEXSFHH (AES, SHEE ) RA2c 3,090
e= 1,800& *800£ 1,440
= 3,500& *3004 1,050
© Y2l 100,000& *3& *23] 600
—MEXSE RHI| =2l 50,000& =30CH 1,500
—MEZAE B 500,000 *40H 2~ 2,000
AN EEX 2l 500,000& = 1CH »22] 1,000
MR X2 € DEF S2(P
H SHs) 500,000& 2= 1,000
202 oddl 80,280 4,500 75,780
01 = LH o4 1l 80,280 4,500 75,780
OMELR & AIRLor2egRFA ol
60,0003 *5H 32 33| 2,700
Ot=0E2 X =2F 0
20,0003 #431H +32 «3& 77,580
206 T 2 bl 6,500 6,500 0
01 =8l 6,500 6,500 0
OfR&I ==tHidel X 50,000 *30K 1,500
Oat2ds It 7 (&8, 8,27 S 73)
5,000,000 5,000
301 et a = 34,732 46,616 A 11,884
0B A SERQREELNS 31,848 43,956 A 12,108
OAZ =22 (Ar&2HAl) 31,848
-Jlg=s 149,000 x7H «12& 12,516
-S4l 7,0003 x7H 22«12 12,936
nE=g:] 2,400 3 x7H +22U x 128 4,436
-I = Hl 140,000& 7 H »23] 1,960
09 A HIE &S 1,884 1,870 14
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AN RS0
HE: QAW S SYHS /LY - 4E)
ol ARESSY CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OUESZAE ZUHA & usFAL =4
7,000 =106 23] 1,484
O&t=AHee AR 2t4A 2,000& «100E 22 400
1MIIEELES 1,000 790 210
Ott=d3s & Q12+l Aol Xl 24|
500,000& »2H 1,000
305 &= S 500 500 0
01 e =8 500 500 0
O&SAIE A 21001 AHl BAz
50,000& 10 500
401 AIEHI L 201 10,000 10,000 0
01 A& HI 10,000 10,000 0
OdEZANE E= 5,000,000 *20H 2~ 10,000
405 XHoHF S HI 4,000 2,500 1,500
01 HatE ESFH S 4,000 2,500 1,500
ORI (=& 2FI| HA) 400,000 10CH 4,000
AEUX XA (=24]) 332,493 348,946 A 16,453
= 132,996
< 59,848
Al 139,649
101 @124 dl 225,996 230,573 N4 BTT
= 90,399
< 40,679
Al 94,918
M4 D12t ZE2EXNSEES 225,996 230,573 A4 577
OMESTZ0E &sttH elAdl 189,000, 000& 189,000
= 75,600
< 34,020
Al 79,380
OdEHSNY Ml TE+Y
250,000& »3H 750
= 300
= 135
Al 315
C4liEd JIA2RES 36,246,000 36,246
= 14,499
< 6,524
Al 15,223
201 L2l 34,497 28,873 5,624
= 13,799
< 6,209
Al 14,489
01 At 22l 22,200 17,800 4,400
O4.1l =t 11,200
“MEYX BEAL 22 11,200, 000& 11,200
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2N
X ZH -
L= B

el

[z 02 oC
oV R U
HT oY iz
fol 02 12
ooy &
N OE

L]

O

i

%

02

1>

2z

~

0°

Q

[

i

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

4,480
2,016
4,704

O5.=2&Hl 3,000
-2 23 Z 4l 3,000,000& 3,000
1,200

540
1,260

O6. 9 xt= 8,000
-MESE ESXE SR 8,000,000 8,000
3,200

440
3,360

]l 12,297 11,073 1,224
Al 4,550
“SEZAE AXNZRAIAB(SAZ)

130, 000 *35H 4,550
1,820
819
911
,000
,000

,400
,080
,520

147

1,747,000 1,747
699
314
734

= H W = Hn W

= M W

= N W

O3. A€ ZHI =Xt
—MERUAZ AN FAE2== 6,000,000

= N H

— N =N O O —

04
Hh
O
_>'|_|
op
10
Ju
=

Z W

202 o4 Hl 2,000 2,000 0
800
360
840

=z N H

e
H
=
M 2
==
N

,000 2,000 0
20,000& 100 2,000
800

360
840

O
=z

>
to
M
o
o

= N

206 M= Hl 20,000 17,500 2,500
8,000
3,600
8,400

= N W

01 = dl 20,000 17,500 2,500
Ol &3t &I 500,000& 40 20,000
8,000

3,600
8,400

= N H
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2N
X ZH -
L= B

el

[z 02 oC
oV R U
HT oY iz
fol 02 12
ooy &

N

L]

O

i

%

02

1>

2z

~

0°

Q

pa

I

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

401 AIEHIZ 2 I 50,000 0 50,000
19,998

9,000
21,002

= Hn W

01 A& dl 50,000 0 50,000
O&t= S 12 Al St ct 50,000,000& *14] 50,000
19,998

9,000
21,002

= N H

[P
MW
0z
pa]
2
o
H
==

,432,042 1,280,692 151,350

= 62,600
Al , 369,442

—

101 Q124 H] 1,218,698 1,132,720 85,978

= 41,560
Al 177,138

—

040|222 s E+ 1,218,698 1,132,720 85,978
Ott=ZAIE Q12| 1,037,189,000& ,037,189

41,560
995,629

O42E JI2=2E=  1,037,189,000& x17.5% 181,509

—

= M

201 LEt2A | 20,600 22,000 A 1,400

4,120
Al 16,480

H
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2,400

= M

2,000,000 2,000
400
1,600
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]| 5,600 7,000 A 1,400
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= _ — d =
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140, 00024 *40CH 5,600
< 1,120
Al 4,480
202 o4dl 3,000 3,000 0
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Al 2,400
01 = LH o4 4l 3,000 3,000 0
OUMESHZ0 ST 2el bl 3,000,000& 3,000
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Al 2,400
206 = Hl 135,744 64,872 70,872
= 5,520
Al 130,224
01 =8l 135,744 64,872 70,872
OMEZANE 83 |RFH 129,744,000 129,744
< 4,320
Al 125,424
OMeI&SHAHINE 200,000& *30MI E 6,000
< 1,200
Al 4,800
301 et A Z 1,000 1,000 0
< 200
Al 800
09 EALEHIE &S 1,000 1,000 0
O¢ENLEZASHH W= 1,000, 000& 1,000
= 200
Al 800
401 A& HIZ 201 I 10,000 10,000 0
< 2,000
Al 8,000
01 A& HI 10,000 10,000 0
OMSZAAE(ZAIE=R) DA
10,000, 000& 14! 10,000
< 2,000
Al 8,000
405 Xt &HE S b 43,000 47,100 A4,100
S 8,600
Al 34,400
01 et EZFH S 43,000 47,100 24,100
OUXNERNSLSEI (X L 0EXNS)
900,000& »20CH 18,000
< 3,600
Al 14,400
Obtt28 UXNE XMHsYsIl 2,500,000 «10CH 25,000
= 5,000
Al 20,000
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X ZH -
L= B

el

[z 02 ot

oV R U
HT oY iz
fol 02 12

10 e &
L OE
to
OF
i
ol

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
206 M= Hl 4,700 4,700 0
01 =8l 4,700 4,700 0
O&&3E X2 X (=S 55)
10,000& »150& 1,500
O&dE Ms - BIYAMEE EIMNM 2 (d
clEelllel 148) 100,000& 203 2,000
O&csE HAHEAM 7
400,000 =18t A +3F 1,200
301 LEtE A= 700 700 0
09 HALAHIEA S 700 700 0
O&XI&Ea HmHe FAT S4
7,000& *50H 23] 700
401 Al HI 2 28I 130,468 150,540 AN 20,072
01 A& HI 130,000 150,000 A 20,000
5 sA32 A2 (EHIO,==014
HY HolSgH MMEES 5) 110,000
110,000,000
OzE2d MSALLR 2 24
20,000,000 » 14! 20,000
03 A& =2 THHI 468 540 AT2
OANSE SXZ2AY AIE20
130,000, 000& *0.72/100%50%< & 2> 468
Megwaedg 1,910 1,910 0
201 L2l 1,910 1,910 0
01 At 2t 2l 1,910 1,910 0
O1.€8=&H| 1,350
-—=AdEna g2 1,350, 000& 1,350
03.2g89=¢ 560
- A= 35,0003 4 Al 2t+2H x23] 560
Lol S X 286,860 317,757 A 30,897
= 17,142
= 11,503
Al 258,215
2 KHoH Off & 205,331 162,538 42,793
101 14 Hl 46,463 44,838 1,625
04 JIZtHZ2XRHEE S 46,463 44,838 1,625
Ot TSN SS=EF(AESHA) 2]
54,5003 10 x8 53] 21,800
OSHZAE RAES el
54,5003 «6H 7 43 9,156
Os=Zdael oAl 44,6403 +4H x50 10,714
O4Ed JI2=RE= 41,670,000& *11.5% 4,793
201 Let24d] 20,400 18,750 1,650




SH GRAAD
HE: QAW S SYHY /LY - 4E)
S MAEHHS YN o &)
(o
M- B8-S (3H) - NEAY - BAS %@i HD=2
01 AP 22| d| 5,400 8,550 A 3,150
O4.1]1 24| 400
ARG 22ET =HY=(209 &3 S) 7
2! 50,000& 8=t 400
O6.Yx2 5,000
-ME T S 2=+ 4l YXt 5,000
=247 S 500, 000& *x2CH *53] 5,000
02 22244l 15,000 10,200 4,800
O1. 2222 <LHAl 12,000
—SHAM2 HEHXZE0 MRS
100,000 x 1000 A +12& 12,000
O3. A& & H|l S XYl 3,000
SSMZ ANEEEX(HNHEXE0 S)
3,000, 000& 3,000
206 M = Hl 8,000 17,550 N9,550
01 X2 H| 8,000 17,550 N 9,550
oAtz ol & 2237 M 2 2,500
-Hle 150,000& x 102 1,500
-&H2| 5E 10,0002 1004 1,000
OsdzZ HHHXE0 A2 2
10,000 *504 500
Os2dae M1y 5,000
Ot EE S HOAIEZ 500,000 1004 2~ 5,000
401 AlEHIZL £ 0HY| 130,468 80,000 50,468
01 Al&H| 130,000 80,000 50,000
OSHZ HMEBAIEES B2
10,000, 000& = 1Al 10,000
Os=2d 2l Ag 50,000,000 14! 50,000
OAFALE] I ZAH(REXES
50,000,000 14! 50,000
OAFALE O ZAH(ZD|SH) 20,000,000 14! 20,000
03 AlE 201 468 0 468
O THOH I BF AT Al E 2 0HH]
130,000, 0002 *0.72/100%50%< & 2> 468
sS4 (gdR) 23,200 23,200 0
206 M = Hl 3,200 3,200 0
01 XHZ H| 3,200 3,200 0
OBS4 92U & M=xsH X2 2
50,000 *20H 1,000
OBs4 giHEe sARA(ASH, 420 S)
30,000 409 1,200
OLHs+ MEsSXH 2L 50,000 204 1,000
401 AlEHIZL £ 0HY| 20,000 20,000 0
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HE: QAW S SYHY /LY - 4E)
ol MR EYA (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 20,000 20,000 0
Qussd 232 HEAL(SSHI, A=
g) 5,000,000 x24! 10,000
OH= oz 2 Al 5,000,000& =23l 10,000
AALERE B UL EHR2 L (EX) 24,579 12,400 12,179
= 17,142
< 5,143
Al 2,294
101 @124l 23,762 11,683 12,079
= 16,640
< 4,993
Al 2,129
04 JIZHHZ2Z2XNSE+ 23,762 11,683 12,079
OALAIEH S Z ol 2 & 1 24| 20,690, 000& 20,690
= 14,490
< 4,347
Al 1,853
C4UEY D223 2,672,000& 2,672
= 1,870
< 562
Al 240
oot = 400,000& 400
= 280
< 84
Al 36
206 M= Hl 7 77 0
= 502
< 150
Al 65
01 = Hl 77 717 0
O+=2XM(8l,ott S) 717,000 "7
=2 502
< 150
Al 65
301 et A3z 100 0 100
09 #HALAHIZ &S 100 0 100
OALALE EEMES WSsZl 50,0003 2% 100
s (EX) 21,200 14,619 6,581
< 6,360
Al 14,840
TAIEHI &R 21,200 14,619 6,581
< 6,360
Al 14,840
01 A& HI 21,048 14,619 6,429
OEs=sze (=, =HHe HHESLHM S
) 21,048,000& =14 21,048
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HE: QAW S SYHY /LY - 4E)
ol MR EYA )
4
SA BB (SH) - NRAY - B %@i 2t
[ 6,360
Al 14,688
03 Al 20| 152 152
OBs4£2e AIZE20iH]
21,048,0002 +x0.72/100 152
2= 22l 12,550 12,550
206 M = Hl 2,550 2,550
01 X2 H| 2,550 2,550
42 oUW L HHELH AT Y
50,000 *30H 1,500
OblssAE A2 IMHFY 1,050
—HOAES(ZM) HOE 35,000 *30H 1,050
1 AIEHIZ 2L 10,000 10,000
01 Al&H| 10,000 10,000
OltSE AN (=SHMESSE AILDES
s) 10,000, 000& = 1Al 10,000
HEM2AFAH (Y3 A FY(DIEH/DIEL) 60,090 2,467
Jl23dl (g3 &) 60,090 2,467
SEM42GH| 5,490 67
201 et d| 5,490 67
01 AP 2t 2] H| 5,490 67
OFNMSY LBt=24| 3,880,000& 3,880
OBNME&YE S| 1,610,000 1,610
HAL2F=X0Y| 50,400 2,400
202 o4l 50,400 2,400
01 2Ll 50,400 2,400
OFLRLY2F=ZA HHl 20,0008 *21Hx10L x12& 50,400
H2=AH| 4,200 0]
203 €2 F=&d| 4,200 0
04 EANSIELR2F=XH| 4,200 0
OBAN2EARFXHI (R :239)
350,000 x12& 4,200
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D HRAHLEDED
D EZAEE 2e(xBLUE/ER)
P ERALEE gxze

A - E8 .2 (5H) - NRAY - BES 0 &k il HDz2
O3. A€ ZHl=Xlbl 8,500
s #HESEH 3Z |RX22l 8,500,000 8,500
O4. X2 & 2l 8,632
- 2(HE) 7,432,000 «1CH 7,432
-BEGS 0S4 HEI| a2 Y BA
600, 000& 22 1,200
202 04l 6,480 4,320 2,160
01 S L YI 6,480 4,320 2,160
OALHHYL XX Y|
60,000 x4 E «3 »63| 4,320
OE2o2Y? =0
60,000 x4 H «3 »33| 2,160
206 M= Hl 97,000 97,000 0
01 M=l 97,000 97,000 0
O=2¥ HPz7 7 2,000,000& 2,000
O2ZANEE BN ¢ 95,000,000 95,000
301 LEE N F 36,397 54,543 A 18,146
0B MEIESRRAEH= 36,397 54,543 A 18,146
OME 228 (BEH o BNHE) 36,397
-Jl=s 149,000 »8H « 12 14,304
-S A 7,000 8 22 123 14,784
-u St 2,400 8 x222 »12& 5,069
-1l =4 140,000& 8 23| 2,240
401 AIEBI L 2 CHEI 1,682,999 441,584 1,241,415
01 A& HI 1,680,000 440,000 1,240,000
ozUug #I8d 89 15,000, 000& *23 30,000
o2l ug S22 100,000,000& » 14 100,000
O32w 2 244 HFLEH 82,000,0008 «14! 82,000
Ogazrel 9 A BUHH
9,000, 000 1Al 99,000
ogerariel 9 hA HYUHA
84,000,000 * 14! 84,000
OREBE TEEZ62 ¥ ATHITA
200,000,000& =14l 200,000
Ods A==% WHMSA 20,000,000& *14] 20,000
OBHNASS TOIUIIAR EAIDI &X
15,000,000& » 14 15,000
OFYS FHFANT T2 ZHIZA
50,000, 0003 * 14! 50,000
O4&lg st B 1,000,000, 000& 14! 1,000,000
03 Al S THHI 2,999 1,584 1,415
OS2ANES SN2l ALY
680,000,000& *0.63/100%70%<& 2> 2,999
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2N HPALDED
M LN (RREMUE /TS - 2

el M XINA (ol m2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HETHOHOI (S SE ML /TH T - 212 9]) 432,142 276,844 155,298
=1k PP Kl 432,142 276,844 155,298
A otE ZHl 405,006 249,448 155,558
201 Let249] 866 866 0
02 =24l 866 866 0
O1.2Z22SZHA 866
-AGHEBES DXAN LESRERZ 866
soleH 1,930& »200AH 386
egEsfH 300& 1,600 480
202 44l 2,700 2,700 0
01 S LHOIYI 2,700 2,700 0
OMt2el d2us & Mue2elgdRF=E ol
60,000 *3H 32 x53] 2,700
401 AIEHI L 20 401,440 245,882 155,558
01 A& HI 400,000 245,000 155,000
OZU 46t& AEE SANES
50,000,000& » 14! 50,000
OFELZ =32l =& HHISA
15,000, 0002 14 15,000
O&JIl MEC 8 ZHISA
30,000,000& » 14! 30,000
O st@el S8 & HHITA
80,000,000& » 14! 80,000
O2d Zitze| oA HHI S A
15,000, 0002 14! 15,000
O&Jl Xl 3d ZHEA
30,000,000& » 14! 30,000
Osoll =+cl XA EHISA
80,000,000& » 14! 80,000
Osoll al&Eel XA EHISA
100,000, 000& * 14 100,000
03 A& =TI 1,440 882 558
OActd ZHISAH AIZ R0
400,000,000& *0.72/100%50%<& 2> 1,440
G & THoff Ol 2 27,136 27,396 A 260
201 et 15,136 15,396 A 260
01 At 22l 10,616 11,016 A 400
O1.4et=EHl 3,600
Xl & THOHCHE ALY JIEt=EHI
3,600,000& 3,600
O5.2&Hl 2,016
ST GRFE OFA2ZREXN SA
7,000 «3H 8«12 2,016

_57_




2N HPALDED
M LN (RREMUE /TS - 2

el AE A TINA (sl &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O6. &4 xt= 5,000
-MoitHESZ2&H LdXz
500, 000& *x2CH x5 5,000
02 352494l 4,520 4,380 140
O3. A& &HI S X bl 4,520
~THOHCH 2 2 ~=D| S X &2lHl 100,000 »20CH 2,000
~%4IItS 8 REUI(FLR)
1,800& 204 *3501{*23] 2,520
206 M = Hl 12,000 12,000 0
01 M= bl 12,000 12,000 0
O+YXM 2 (PPEUS) 12,000,000& 12,000
HESHAALH(ERHAEWEN)(IIEH/IIE 558,735 510,916 47,819
< 40,480
Al 518,255
Ol 2IH(g+ A& uns) 503,705 465,674 38,031
[ 40,480
Al 463,225
AFolE2AY| 52,472 47,216 5,256
101 @1 21| 52,472 47,216 5,256
02 JIEt8 2 52,472 47,216 5,256
OAMZIEEHYIH('0H' 2 =8 AHE) 51,592
-HE 22,137,500 »2H x32/40 35,420
-AZ2t 2R G 3,737 *2H x10A| 2t x12& 897
P = 2,520
ol < Xt 40,0003 x2H x 128 960
JIEFILE 20,000& x5 x12& 1,200
) = 30,0003 *1H +x12& 360
A3 8 XH| 105,000 x2H » 128 *32/40 2,016
~H A ZAH| 130,000& 2H x 128 x4 /5 2,496
-AEHSH B XY 463,300 *1H x43] 1,854
-2 At Y|
1,475,830& x2H %84%*86%+*1/30%1/6.4%96 Al 2+ 1,067
A28 JI2R2E23 46,270,000 *11.5% 5,322
OSYC-EMNCE AZTEE MY I H TI=8] 880
=225 130,000& x2H »23] 520
-gsts 130, 000& x2H 260
-2 i 10,0003 »2H 20
-ct 3} 40,000& x2H 80
A=z 29| 451,233 418,458 32,775
& 40,480
Al 410,753
101 @121l 451,233 418,458 32,775
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SN HPALDED
M HMSAAH (R AL WS W) (IIEH/IIE
el olEe gy (47 ALDED) CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
= 20,480
Al 410,753
03 I HLZ22 HE 451,233 418,458 32,775
cEzxz2d 444 033
23 51,800& x12& 261 162,238
& 40,480
Al 121,758
-& 02 13,520,000 * 12 1/ 12%400% 54,080
-HE S| 13,520,000 * 12 x1/12%120% 16,224
-AX=< 73,7443 125 x19! 16,814
-F=F54 51,8003 12H x52 32,324
-4 40,0003 x12H x12& 5,760
-tE4 100,000& x 12 x12& 14,400
-HHZAH| 130,000 x12H x12& 18,720
-2EJM2 51,8003 128 6 *12& x50% 22,378
-d32s4 13,520,000 12 x1/12%40%*23] 10,816
—2FAMH| 50,000& x 128 x12& 7,200
-9 Mg 50,000& x 12 x12& 7,200
5222 73,7443 x12H *150%*x2 2 12 31,858
-XtH8Hdl 2 = 463,300 *4H x43] 7,413
—HHE AR 4 100,000& x1H ~12& 1,200
-WEE XY 50,000& x 12 x12& 7,200
-0r2t2 2% 9,218& x 12 x50 Al 2t *150% 8,297
-Alz2tel 22
2182« 12 x10A| 2t % 150%* 12& 19,911
Oktzx=2g Hl 7,200
&9 130,000 122 33| 4,680
-gst= 110,000& *12Y 1,320
-9 10,000& x12H 120
-& 3t 15,000& x12Y 180
-otN 2 5,000& x12H 60
-OtA& 3} 35,0003 x12Z 23| 840
|=22H(27 AL DED) 55,030 45,042 9,788
SMSGH| 5,230 5,042 188
201 Bt A H| 5,230 5,042 188
01 Al 22! H| 5,230 5,042 188
ORNME&d9 LEtx=ZH| 3,760,000& 3,760
ORANEYE S 1,470,000 1,470
AR =0l 45,600 36,000 9,600
202 04| 45,600 36,000 9,600
01 2L Y| 45,600 36,000 9,600
F=RARE=ZX Ul 20,000&*19H x10 ~12& 45,600
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